## GENERALIZATION OF A THEOREM OF PATI

## ZIAD S. ALI \*

Introduction: In this paper we consider Nörlund summability of Fourier series and extend a theorem of Pati. Let f(t) be a periodic function with period  $2\pi$ , which is integrable in the sense of Lebesgue over the interval  $(-\pi, \pi)$ . Let the Fourier series of f(t) be

$$\frac{1}{2}a_0 + \sum_{n=0}^{\infty} a_n \cos nt + b_n \sin nt = \frac{1}{2}a_0 + \sum A_n(t).$$

1et

$$\Phi(t) = \Phi_{x}(t) = f(x+t) + f(x-t) - 2f(x)$$

$$\Phi(t) = \int_{0}^{t} |\Phi(u)| du, \text{ and } \tau = \left[\frac{1}{t}\right],$$

the integral part of  $\frac{1}{t}$ .

In 1948 Siddiqi proved the following theorem:

THEOREM A If

$$\Phi(t) = o\left(\frac{t}{\log\left(\frac{1}{t}\right)}\right)$$
, as  $t \to +0$ ,

then the Fourier series of f(t), at t = x, is summable  $\left(N, \frac{1}{n+1}\right)$ .

In 1961 PATI generalized Siddiqi's theorem and proved the following theorem  $\lceil / \rceil$ :

<sup>\*</sup> This work was done under Prof. S. M. Shah as a partial fulfillment of the degree Doctor of Philosophy in Mathematics (University of Kentucky).

THEOREM B Let  $(N, p_n)$  be a regular Nörlund method, defined by real, non-negative, monotonic non-increasing sequence of coefficients  $\{p_n\}$ , such that  $P_n \to \infty$ , and

$$\log n = O(P_n)$$
, as  $n \to \infty$ .

Then, if

$$\Phi(t) = o\left(\frac{t}{P_{\tau}}\right)$$
, as  $t \to +0$ ,

then the Fourier series of f(t) at t = x, is summable  $(N, p_n)$  to f(x).

## 2. In this note we extend PATI's theorem as follows:

THEOREM 1. Let  $(N, p_n)$  be a regular Nörlund method, defined by real, non-negative, monotonic non-increasing sequence of coefficients  $\{p_n\}$ , such that  $P_n \to \infty$ , and

$$H(n) = \int_{1}^{n} \frac{h(t)}{t} dt = O(P_n), \text{ as } n \to \infty,$$

where h(t) is any slowly oscillating function; then if

$$\Phi(t) = o\left(\frac{t \cdot h\left(\frac{1}{t}\right)}{P_{\tau}}\right), \text{ as } t \to +0$$

then the Fourier series of f(t), at t = x, is summable  $(N, p_n)$  to f(x).

The case h(t) equals a constant is Pati's Theorem.

Proof: we have

$$S_n(x) = \sum_{n=1}^n A_n(x)$$
;

therefore

$$S_n(x) - f(x) = \frac{1}{2\pi} \int_0^{\pi} \Phi(t) \frac{\sin(n + \frac{1}{2})t}{\sin\frac{1}{2}t} dt;$$

hence

$$t_{n}(x) - f(x) = \frac{1}{P_{n}} \sum_{k=0}^{n} p_{k} S_{n-k}(x) - f(x)$$

$$= \frac{1}{P_{n}} \sum_{k=0}^{n} p_{k} \frac{1}{2\pi} \int_{0}^{\pi} \Phi(t) \frac{\sin\left(n - k + \frac{1}{2}\right) t}{\sin\frac{t}{2}} dt$$

$$= \int_{0}^{\pi} \Phi(t) \frac{1}{2\pi P_{n}} \sum_{k=0}^{n} p_{k} \frac{\sin\left(n - k + \frac{1}{2}\right) t}{\sin\frac{1}{2} t} dt$$

$$= \int_{0}^{\pi} \Phi(t) K_{n}(t) dt, \text{ say.}$$

In order to prove the theorem we show

$$\int_{0}^{\pi} \Phi(t) K_{n}(t) dt = o(1) \text{ as } n \to \infty.$$

Now

$$\int_{0}^{\pi} \Phi(t) K_{n}(t) dt = \int_{0}^{1/n} + \int_{1/n}^{1} + \int_{1}^{\pi} \Phi(t) K_{n}(t) dt$$
$$= I_{1} + I_{2} + I_{3}, \text{ say.}$$

$$I_{1} = \int_{0}^{1/n} \Phi(t) K_{n}(t) dt = O\left(\int_{0}^{1/n} |\Phi(t)| |K_{n}(t)| dt\right)$$

$$= O\left(n \int_{0}^{1/n} |\Phi(t)| dt\right) \text{ By } [/]$$

$$= O\left(n \frac{n^{-1} h(n)}{P_{n}}\right)$$

$$= o(1) \text{ as } n \to \infty, \text{ since } \frac{h(n)}{H(n)} = o(1)$$
as  $n \to \infty$  by [3].

$$I_{3} = \int_{1}^{n} \Phi(t) K_{n}(t) dt = o(1) \text{ as } n \to \infty,$$

by the Riemann Lebesgue theorem, and the regularity of the method  $(N, p_n)$ ,

$$I_{2} = \int_{1/n}^{1} \boldsymbol{\Phi}\left(t\right) K_{n}\left(t\right) dt = O\left(\frac{1}{P_{n}} \int_{1/n}^{1} |\boldsymbol{\Phi}\left(t\right)| \frac{P_{\tau}}{t} dt\right)$$

by Tamarkin and Hille's Lemma [2].
Now

$$\frac{1}{P_n} \int_{1/n}^{1} |\Phi(t)| \frac{P_{\tau}}{t} dt$$

$$-\int_{1/n}^{1/n-1} + \int_{1/n-1}^{1/n-2} + \dots + \int_{1/2}^{1} |\Phi(t)| \frac{P_{\tau}}{t} dt.$$

By integration by parts and simplifying we obtain

$$\frac{1}{P_n} \int_{1/n}^{1} |\Phi(t)| \frac{P_{\tau}}{t} dt - o(1) = \frac{1}{P_n} \Phi(t) \frac{P_{\tau}}{t} \int_{1/n}^{1} + \frac{1}{V_n} \int_{1/n}^{1} \Phi(t) \frac{P_{\tau}}{t^2} dt.$$

Therefore

$$\frac{1}{P_n} \int_{1/n}^{1} |\Phi(t)| \frac{P_r}{t} dt = O\left(\frac{1}{P_n}\right) + O\left(\frac{1}{P_n} \cdot \frac{n^{-1} \cdot h(n)}{P_n} \cdot \frac{P_n}{n^{-1}}\right) + o\left(\frac{1}{P_n} \int_{1}^{n} \frac{h(t)}{t} dt\right) = o(1) \quad \text{as} \quad n \to \infty,$$

and the theorem follows.

Theorem 2. Let  $(N, p_n)$  be a regular Nörlund method, defined by real, non-negative, monotonic non-increasing-sequence of coefficients  $\{p_n\}$ , such that  $P_n \to \infty$ , and

$$H(n) = o(P_n)$$

as  $n \to \infty$ , where

$$H(n) = \int_{1}^{\pi} \frac{h(t)}{t} dt$$

and h(t) is any slowly oscillating function; then if

$$\Phi(t) = O\left(\frac{t \cdot h\left(\frac{1}{t}\right)}{P_r}\right) \text{ as } t \to +0,$$

then the Fourier series of f(t) at t = x, is summable  $(N, p_n)$  to f(x).

PROOF: This follows from the fact that  $\frac{h(n)}{H(n)} = o(1)$  as  $n \to \infty$  [3].

## BIBLIOGRAPHY

- PATI, T., A Generalization of a Theorem of Iyengar on the Harmonic Summability of Fourier Series, Indian Journal of Mathematics, Allahabad, V. 1-3 (1958-61), 85-90.
- McFadden, L., Absolute Norlund Summability, Duke Mathematics Journal 9, (1942), 168-207.
- 3. Debruijn, N. G., Pairs of Slwoly Oscillating Functions Occurring in Asymptotic Problems Concerning the Laplace Transform, New Archief Voor Wiskunde Ser. 3 V. 6-8 (1958-60) 20-26.

Dr. ZIAD S. ALI Université d'Alger Faculté des Sciences ALGER